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NATIONAL EXAMINATION 2000/2001

MATHEMATICS VI
SECTION A
ANSWER 001
12+19+28+x+51=30
5
o 110+x _ 20

5
& 110+ X =130

< X=40
ANSWER 002
(J§+\/§\f) = x/il+2ﬁ+x/§L
=24 2+/6+3
=5+246
ANSWER 003

Y = 4° car correspondants
Z = 180°-(60°+y) -

= 180° - (60° + 40°)

= 80°

X =180°- (40 +2)°
= 180° - (40° + 80))



ANSWER 004

El= L Lo x=3
A X ¥
Y =4
B 211 |
& —= 4=
A 3 4
P 4+3
12
=7 STA=2112
12
s i = TLE2
7
A=36
ANSWER 005
B=10,12346
B=1{0,2,48
ANB=4{024}

AUB= 0123468
ANnB

{ 136}>
AU B

ANSWER 006




4 =1 _ (2x-1)(x+1)
4 -dx+1  (2x-1)(QRx-1)
___2x+1

2x -1

ANSWER 007
Diameter = hypotenuse of the triangle ABC
AC?*=AB?+BC?
AC = JAB* + BC?cm
= &1 m
=5cm

Circumference =D x Il

=1cmx5x 3,14
=15,7cm
ANSWER 008

.A(5,-3)and B (-6,5)

5-6 . =3+5,°
St

E 2
S

1
< M(- 7 1)

ANSWER 009

Volume sphere = §H3.
2 o



V¥-=

|

' [FF &

- 3,143%1em®

= 1 3,14.27¢m®

= 113.04cm®

ANSWER 010

a) 4 lines of symmetry: the diagonals and the 2 medians
b) s (A) = A

s (B)
s (C)
s(A)

B
C
B

]

ANSWER 011

A = (3203),
B=(1111)
A = (3 x4°) + (0x41) + (2 x 4%) + (3x4°) = 3+0+32+182= (227)10
B=(1x2°)+ (1 x2") + (1 x2%) + (1x2%) = 1+2+4+8= (151

(227 - 18).50= (242

(242)10= (?)s

242 / 6 / 6 / 6
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ANSWER 012

Report of similarity; =; 2:%¢ =
2dem

4
2

AC

H

(36x 2)cm

(1,8x3)cm

54 cm

With the Thales theorem, we have:

i

g .. oC .. BE q - %= 36
AR AT B “36 B

—24AC =362

& AC = 2% = 5 40m
2.4




ANSWER 013

31)},3 + 12x2y5 :
9x2y!

Demonstration of a common factor

Zir:yg(x+4y2) _xT 492
3xy'(3y) 3y

ANSWER 014

X(-2,4)ety (0,1)

Translation tv where V = (ﬁ)

2

x'[ 22 ] x[ -4}

4+3 7

Y' [ 0-2 =y [ -2]
1+3 =7 8 4 4




The segments xy and x'y 'are collinear and of equal length

ANSWER 015

a) 2x+y+1=0
X-y -7 =0

<:>{ 2x+y =-1

X-y=7

< 3X=6

o X=2

2.2+y+1=0

< 4+y+1=0

oy=-5
b)(-1; 1=and (2,5)

ara by b
A=y -a; = mix-a;)

And m = b, —a, - 5+l:
b —aq, 241

=2

L | o

A=y +1=2 (x+1)
A= y+1=2x+2




A=y =2x+2-1
A=y 2x+1
A=2x-y+1=0

SECTION B

ANSWER 016

a) f(x) = 2x+1
G(x)=x2-2
(Mg (f(x)) = (2x+1)* -2
= (4x* +4x +1) -2
= 4x*+4x-1
(2)g(f(2) = 4.(-272+4(-2)-1
= 16-8-1
=7
b) p(x) = 2x°+9x2+7x+6
(1) divide by 2x-1

2¢ + 9+ 7x -6 2x -1
X2+ 5x+6

2x + 17

10x2+5x

—10x* +5x

12x -6



